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gE N2 BAHE HEBE #5

+ # BfE] #HE # TEFIE | |
+ train <- Datab B FERE AN O] Straintexpld 1*Data b HEPTERBF B train/ 100 +f1*Datab B train/ 100 + b1*matrid1 nrow =hh,ncol=1))

+ hus  <- DatabfUEFERERNOIShus *expld1*Data b P EER Gl bus/ 100 +f1*Datab BB bus/100)

+ car  {- DatabNEFERERD]Scar *expld1*+Datal FTEEF E]car/100)

+ hike <- Datab{ EFEFERY 0] Thike *expld1*Datab TR E hike /100 + h?*matri1 nrow =hhncol=10)

+ walk <~ Datab N EFEEER D Twalk *expld1*+Dataf PTEEEHE walk/ 100 )
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Vtrain = B, GEBEZE) + B,(8kE BN EER)




HERR(ZHOIYMETI)

Uiain =V, +¢, =d, (FTEERERD) + f,CBH)  +b, +e,
UbUS :V2 +82 :dl(@_l,‘gﬁ‘%?laﬁﬁ)_k fl(*;,'(jé) +52
Ucar =V, +¢&; = dl(}?ﬂ?gﬁ#ﬁﬁﬁ) + &3
U bicycle:V4 + &y = dl(%gﬁéﬂ?ﬁfﬁ) + b2 ‘|‘54
U, .. =Vs+s =d (FTEEFH) + &
NSRA—% tE

FrE R (1004) 315 -8.35

¥4 (100M) 0.04 -2.69

E A (88) 092  9.63

EH (H¥pH) 059 -3.67

#V7{b§k 399

s gk sz pmm  BEE 5

. -380.95

REREK 0.35

&1 F H P E R EX 0.34




RIREROHE

FERINER : KB TFBRDOP T, ﬁ&xéﬁﬁ‘é‘éiﬁ$

+ # B5lE] # #iE # TETIE
+ train <- Datab B FERSE RN o] S traintexp(d1 #Datab 8P EIEE] train/ 100 +A1*Datat B train/ 100 + bl*matrid1 nrow —hh,nco|:1 )]
+ hus  <- Dataf N EFEERNTISbus *expld! #Dataf #EPTEERHE bus/ 100 +f1 #Data$ER FH bus/100)
+ car  <- DatabNEFEEREIScar *expld1+Dataf PRERElcar/100)
+ hike <- Datab i NEFERER I Shike *expld1*Datad PR hike/ 100 + h2%*matrid 1 nrow =hh,ncol=1])
+ walk <- Datab U EFEYE R oS walk *exp(d1 *Datab PTEREF Elwalk/ 100 )

~UbHE/ f

3174364 #E BIREE |
HFEFE train bus car hike wialk krain bus car hike walk =
BinE 0252256 0 0 0233501 003554 0.0002M 0 0 0925651569 0073552514 Qooo79s917 1
e 0617116] 0365479 0 0237954 0013585 982E-0% 0592236781 0 0385585973 0022014285 00055204 1
FhiE 1106388] 0680902 0 032459582 0089555 0010945 0A1542785 0 0283732123 0080547104 0009892523 1
#HE 0595683 0411525 0 0176935 0007147 2.09E-0% 0GE908359428 0 028727383 00119598149 3E0E-05 1
#E 01355621 004907 0 0086612 0000281 FA1E-09 0360508551 0 QF37025558 0002085758 H23E-08 1
FhiE 4385759 1 620157 0720853 0854344 0482655 07117459 0A690TER21 016421252 019462215 0105550154 0162138615 1
EEIE 0155377 0064657 0 0087986 0002693 1 56E-06 0416384837 0 OBEE272216 0017332881 101 E-05 1
BirnE 1.872188 0 0 07603539 0466225 0645564 () 0 04086154967 0245026967 0344818065 1
e 0415103] 0230327 0 017478 0013888 0000108 0549571318 0 047034202 0033137646 0000256835 1
EEIE 0188871 0085789 0 00954581 00035958 340E-06 0454220135 0 0526712151 0015045651 1 BOE-0S 1
E#=E 0.315366] 0095794 0 020652 0012953 931 E-0L 0303755662 0 0gAH4858064 0041090984 0O002e5299 1
Bin=E 1801661 0 0 0723043 0458543 0619675 0] 0 041 3E319 0254733512 0343946569 1
FhiE 2647031 1181306 0 072077 0369328 0375627 044627581 44 0 Q272203636 0135525516 01415905034 1
SEE 173131 0268717 0 0623585 0402097 0436907 0155200000 0 03601833547 0232250115 0252356375 1
E &= 1.736274] 0412768 0 0732206 0325626 0265674 0237732201 0 0421710964 01875425915 01530135916 1
#hE 024707 01085934 0 012558 0MB457 0000135 04286987 0 0EO3Z0O3s7E 0062553003 0000544718 1
hE 0891751 0501236 0 0312933 0070946 0006677 0562055588 0 (0350a035a2 00759554076 0007486803 1
#HE 1.736144] 074835 0449517 0442444 0035967 0003365 04310417230 0258316649 0254843071 0049516255 QO0SGEE2302 1
e 1.237264] 0800469 0 0381587 0052111 0003097 0 A4E967361 0 0308411978 0042117633 000250303 1
BEE 11085942 0231974 0 08563824 022177 0091374 02058185041 0 0508434355 01595583584 0082358702 1
E#=E 0144846] 0055448 0 00868385 0002513 1.32E-06 0382802311 0 05B9E387E3 017348767 914E-06 1
E &= 0057283 017263 0 0033422 0000598 470E-03 0.301 366375 0 0aEg194273 0010438531 82107 1
FhiE 0278102 0040253 0 0201383 003545 0000975 0144743028 0 Q724133858 0127616324 Q00350679 1
BinE 2618122 0428214 0BG385 0792167 0353317 0435534 0163557774 02153785641 0302570713 0152138445 0166353523 1
E &= 2812579 0608585 0434215 068969 0405913 0474177 0232944064 0166201719 0263988053 01553686659 0181457455 1
iEH 2065808 0 0 0787154 0802815 07795794 0] 0 0380322431 024293047 0376747098 1
EEIES 0144145| 0054754 0 0086885 0002505 1 .32E-06 037585213 0 0G0276E031 0017378435 S13E-06 1
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FHHLA d = V{(h-L,)-(cosd0)} A2 +(5,-5,)"2
A= 0=#KE 60=(51+62)/2

PR (km) = d/360 X 2 x 7 X 6370
HERDFEZE (km) = 6370
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V'train = Bl

BBLZE | + By(BRERIRTER)
¢

SED IR E — 108 M D&EE
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ZDMMDFEEE - 105 B DR




HERETIODHE

\

. _ ¥ », A ¢ a S
Viain = B, | EEEZE | + Bo(Shl BIRRER)
Vother = B, | EBEZ |
| K]
NSRA—% il NSRA—% tiE
R E = (FRE) -0.07 -2.01 FEEZE(EE) -0.10 -0.74
R E = (Z D1th) -0.48 -3.16 EEZE(ZFDIth) -0.46 -2.94
FREERER 0.34 0.33
Y7V 110 B U7 110
A3 BE -1625.34  FIHILEE -1621.58
RA LR 33.73 ERALE -33.72
RE REK 0.98 REMREK 0.98
&1 F H P E R EX 0.98 {BIFFEHIEREK 0.98




=Ry (T — 2]

> ## fIHAACE

> print{ L0}

[1] -9458 115

> ## miEE

h print LL)

[1] -1 B486

> #eo 2B

b print( [ LO-LL)/L0D)

[1] 0977272

7 ## IZ1EHo 2B

b printl [ LO—{ LL—le ngthl b1/ L0)
[1] 0974108

) 1S — ST B

p printd b)

[1] —013879 -044818 0104023
p ## t{E

h print tual)

[1] —03A0465 -2 54065 0047398

L (T — )

> 4 FIEAE
> printl LO)
[11] —-550.731
> # EiENE
> print LL)
(1] -21 530§
> #Ho 2l
L print{{ LO—-LL)/LO)
[1] 0977354
> # EIFHe 218
> print({ LO—{ LL-le ngth{ b))}/ L0}
1] 087525
> IS — A TE{E
> print{ k)
[11] -011544 -044119
> i i@
> print{ twval)
r ] -2 DASE —262332
>



LI L S i i el B e B R W)

|

WEERY (T — B2

> ## fMEAE

> print; LO)

1] -1621 58

> ## EiENE

> print] LL)

1] -33.7224

> #Heo 2@

> print{{ LO-LL)/LO)

1] 0579204

> ## IEIEFHe 2B

> printl{ LO—{LL—le ngth( b))/ Lo)
1] 0577354

> IS —SHTFEE

> printd k)

(] —0.09777 045592 (0340554
> ## t{@

> print{ tval)

(] 073537 -203538 (0326045
>

WL (T —MEhZ)

> ## fMEAE

> print Lo

1] -1625.34

> ## EiENE

> print] LL]

1] -33.7273

FLL I o T e G LN R B S I I T I e RN S I T Rt (R RN |

B (T — 5B An2)

W T W W T T e T e e T
—_ —_ —_ —_

(1]

Tt

(1]

s

## TR

print{ LO)

—1625 34

## EiEE

print{ LL)

—33 7273

o 28

print{{ LO-LL)/L0)

05979245

## fEIFFHe "21@

printl{ LO—{LL—le ngth(k)1)/L0D)

0597801 5

IS —SHTEE

printd b)

006758 047523

#H t{E L

print! tval) >

200717 -316355 >
(1]
>
>
(1]
>
>
(1]
>
>
(1]
>
>
(1]
>
>
(1]

# FIERACE
print{ LOJ
1258337
# miEAiLE
print{ LL)
—27 0823
o 2B
printl { LO—-LL)/ L)
0875061
# IEEFH o 21
printl { LO—{ LL—le ngthi b))
08787 H
HASA—RHTEE

arint{ k)

0034385 046225
H# t1E
print{ tval)

—0a4a07 272322
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